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3OHDVH� FKHFN� RQO\� RQH� FDWHJRU\� LQ� ZKLFK�
\RX�ZLVK� WR�EH� MXGJHG�� �127(�� � ,I�QRWKLQJ�
LV� FKHFNHG�ZH�ZLOO� SXW� \RX� LQ� WKH� FDWHJRU\�
ZKLFK�EHVW�ILWV�\RXU�GHVFULSWLRQ� 
 
 
$'8/7�*5283�   BBBB 
�2YHU����\HDUV�ROG� 
 
$17,48(�9(+,&/(   BBBB 
�2YHU����\HDUV�ROG� 
 
%(67�5(/,*,286��81,7  BBBB 
 

%(67�7+(0(�)/2$7   BBBB 
�$OO�IORDWV�PXVW�IROORZ�+HULWDJH� 
'D\V�WKHPH�WR�ZLQ�� 
 
 
 

&/$66,&�9(+,&/(   BBBB 
����\HDUV�ROG�RU�QHZHU� 
 
 
<287+�*5283   BBBB 
����\HDUV�DQG�XQGHU�  
 
 

,�'2�127�:,6+�72�%(�-8'*(' BBB 
 
 
 

3$5$'(�5287(�,1)250$7,21 
7KH�SDUDGH�URXWH�EHJLQV�DW�0DF*DKDQ�DQG�1RUWK�
-HIIHUVRQ�6WUHHW��WUDYHOV�VRXWK�RQ�-HIIHUVRQ��VWUDLJKW�
WKURXJK�WKH�GRZQWRZQ�DUHD��DFURVV�WKH�UDLOURDG�WUDFNV�
DQG�FRQWLQXH�RQ�6RXWK�-HIIHUVRQ�6WUHHW��7KH�SDUDGH�
HQGV�DW�-HIIHUVRQ�DQG�(WQD�$YHQXH� 
 

 

-8'*,1*�$5($ 
7KHUH� ZLOO� EH� 12� 67233,1*� DW� WKH� MXGJHV� DUHD�
DJDLQ� WKLV� \HDU�� :H� DUH� H[SHULHQFLQJ� JDSV� DQG� ZH�
PXVW� NHHS� WKH� SDUDGH� PRYLQJ� WR� HQVXUH� WKH� HQWLUH�
SDUDGH�LV�DFURVV�WKH�UDLOURDG�WUDFNV�E\����QRRQ� 
 
3$5$'(�2)),&,$/6�0$<�$6.�<28�72�029(�
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(QWU\�1DPH��BBBBBBBBBBBBBBBBBBBBBBBBB 
 

BBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBB 
 
6SRQVRUHG�E\��BBBBBBBBBBBBBBBBBBBBBBB 
 
1DPH�RI�LQVXUDQFH�FRPSDQ\� 
 
$JHQW��BBBBBBBBBBBBBBBBBBBBBBBBBBBBBB 
 
BBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBB 
 
3DUDGH�(QWU\�,QIRUPDWLRQ� 
 
&RQWDFW�3HUVRQ��BBBBBBBBBBBBBBBBBBBBBBB 
 
0DLOLQJ�$GGUHVV��BBBBBBBBBBBBBBBBBBBBBB 
 
&LW\��BBBBBBBBBBBBB�6WDWH��BBB�=LS��BBBBBB 
 
3KRQH��BBBBBBBBBBBBBBBBBBBBBB 
 
(-0DLO��BBBBBBBBBBBBBBBBBBBBBBBBBBBBB 
 
6SHFLDO�5HTXHVW��BBBBBBBBBBBBBBBBBBBBBB 
 
5HDVRQ�IRU�5HTXHVW��BBBBBBBBBBBBBBBBBBB 
 

BBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBB 
 
 

,� KHUHE\� DEVROYH� WKH� +XQWLQJWRQ� &RXQW\�
&KDPEHU� RI� &RPPHUFH� DQG� WKH� +HULWDJH�
'D\V�6WHHULQJ�&RPPLWWHH�RI�DQ\�OLDELOLW\� 
EHIRUH��GXULQJ��RU�DIWHU�WKH�SDUDGH� 
 
 
 

$OO�XQLWV��H[FHSW�ZDONLQJ�XQLWV���PXVW�KDYH�DQ�
DWWDFKHG� FHUWLILFDWH� RI� OLDELOLW\� LQVXUDQFH�
ZLWK��D�PLQLPXP����������OLPLW� 
 
 
6LJQDWXUH��BBBBBBBBBBBBBBBBBBBBBBBBBBB 
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�5HTXLUHG�LQIRUPDWLRQ�-�EODQN�ILHOGV�ZLOO� 
��UHVXOW�LQ�\RXU�DSSOLFDWLRQ�EHLQJ�UHWXUQHG� 
��WR�\RX� 

2QO\�����HQWULHV�ZLOO�EH�DFFHSWHG 
 


�1XPEHU�RI�3HUVRQV�LQ�HQWU\�ZDONLQJ��BBBBBBB 
 

�1XPEHU�RI�8QLWV�LQ�HQWU\��BBBBBBBBBBBBBBBB 

 
 
 
 
 
 

3OHDVH�GHVFULEH�\RXU�HQWU\�OLNH�WKH�H[DPSOH� 
EHORZ� 
 

4W\���������
7\SH���������������������
/HQJWK 
BBBBBB���BBBBBBBBB��������������BBBBBBBBB��IW��HDFK 

BBBBBB��BBBBBBBBBB��������BBBBBBBBBBBBIW��HDFK 

BBBBBB��BBBBBBBBBB��������BBBBBBBBBBBBIW��HDFK 

BBBBBB��BBBBBBBBBB��������BBBBBBBBBBBBIW��HDFK 

 

:LOO�\RXU�HQWU\�EH�QRLV\��BBBBBBBBBBBBBBBBBB 
 

,I�\HV��GHVFULEH�BBBBBBBBBBBBBBBBBBBBBBBBBB 
 

7\SH�RU�SULQW�KRZ�\RX�ZDQW�\RXU�HQWU\�GH�
VFULEHG�LQ�WKH�FRPPHQWDU\��,I�OHIW�EODQN�\RXU�
HQWU\�ZLOO�KDYH�QR�GHVFULSWLRQ� 
BBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBB 
 
BBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBB 
 
BBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBB 
 
BBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBB 
 
BBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBBB 

As an Example 
  2          Van                                       25 ft. each 
  1          Truck                                    30 ft. each 
  4          Wagons                                45 ft. each 
 10         Cars                                      15 ft.  each 
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-XQH�������� 

 
 

Þ 3OHDVH� NQRZ� WKHUH� LV� D� UHDVRQ�ZH�
KDYH� GHDGOLQHV��ZH�DSSUHFLDWH�\RXU�
DWWHQWLRQ�WR�WKLV�GDWH� 

Þ 7KH�KHLJKW�RI�WKH�IORDW�VKRXOG�EH�QR�
PRUH�WKDQ���¶� IURP�WKH�VWUHHW�DQG�QR�
ZLGHU�WKDQ���¶� 

Þ $OO�HQWULHV�PXVW�EH�GHFRUDWHG��)RU�
6DOH�VLJQV�DUH�QRW�DOORZHG� 

Þ (QWULHV�UHFHLYHG�DIWHU�WKH�-XQH���
GHDGOLQH�ZLOO�EH��SODFHG�DW�WKH�HQG�RI�
WKH�SDUDGH�DQG�ZLOO�QRW�PHHW�SULQW�
GHDGOLQHV� 

Þ )RU�VDIHW\�UHDVRQV��SOHDVH�GR�QRW�
WKURZ�FDQG\�ZKLOH�PDUFKLQJ�GRZQ�
WKH�SDUDGH�URXWH� 

Þ $OO��02725,=('�81,76��DSSOL�
FDWLRQV�ZLOO�QRW�EH�DFFHSWHG�ZLWK�
RXW�DQ�DWWDFKHG�FHUWLILFDWH�RI�/LD�
ELOLW\�,QVXUDQFH� 
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0DNH�FKHFN�SD\DEOH�DQG�VHQG�WR� 
 

+XQWLQJWRQ�&RXQW\�&KDPEHU�RI�&RPPHUFH�� 
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+XQWLQJWRQ�8QLYHUVLW\� 
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